

## Approval for Outstanding Bills (Bids) April 2022

3 bids for pumps – Plumb Supply Chosen

Plumb Supply
 Toeller Pumps

\$24,341.00



## **Bid Proposal**

9062687 Page 1 Bid#

Prepared For BOONE COUNTY SEWER DISTRICT

Phone: x#: 573-499- Fax:

1314 N 7TH ST COLUMBIA, MO 65201-3902

Written By Paul D Walz

Phone: 573-875-3131 COLUMBIA, MO 65201

Customer #	Description	Bid Date	Valid Until
	ZOELLER PUMPS	2/15/22	03/15/22

210

Line	Product No. / Description	Quantity	UOM	Unit Price	Ext. Amount
10	ZO8150004 815-0004 PROG CAVITY GRINDER PUMP 2HP,230V,1PH ZOELLER	12	EA	1,340.2200	16,082.64
20	ZO8100004 810-0004 ZOELLER SHARK 1HP 230V	5	EA	1,251.7200	6,258.60
	Am Patermann 2/22/22				
	3/32/32		p.		

**Continued Next Page** 



Quote

Date:

Invoice #:

N/A

Customer ID: Expiration Date:

## Water & Sewer Inc.

Salesperson Job KEVIN BCRSD			Payment Terms Net 30 Days			Due Date 2/10/22		
KE VIIN		BCRSD		Net 30 Days			2/10/22	
Qty	Description			Unit Pr	ice	Line	Total	
12.00	ZOELLER E815			\$	1,368.22	\$	16,418.6	
5.00	ZOELLER E810			\$	1,271.17	\$	6,355.8	
						, AGRICHINA	periparini nejaga etapa etapapan	
	supremum - equippe di distributioni di differe di Villan-		ngghyarlamajnighnya lijih similihilar mena					
			descriptions and the second	Service Administration of the Control of the Contro				
		-day-on-do-do-co-habitation						
							**************************************	
		+ , + +00.2+4,4000- 1004-00000000000000000000000000000						
		graphic contribution (Contribution)						
		Angent propagation of the second seco				1		
	an many species delignadary verificial, richt virtus der protesse delignadaris deli	makay, imatar kada yaqda Alijoong Alijoohida ka						
						-		
	water water the territorial and		Apple (Several Profession), variety of the Collection of Architectural Association (Architectural Architectural Ar	nanamudu naminehuus selimbiadi Kinskehn-Mekilis	High Applications and			
					4-100	-		
		gings for an order opposition from an analysis place to the	vessor result risk risk service half before					
		Saldon a napylitishje-						
		- AMPANA						
						-		
	Magnetic Annual Control	المارسة المارس	a de la companya de l	and the second				
				waara gaara				
				PATRICAL STATE OF THE				
				Value of the Control		-		

Bio-Gard, Inc.

P.O. Box 1484 Columbia, MO 65205 573-442-0692 573-442-0179(fax)

Name / Address	
B.C.R.S.D.	
1314 N. 7th Street	
Columbia, MO 65201	

## **Estimate**

Date	Estimate #	
2/16/2022	18072	

FOB	Job
Bio-Gard Inc	

Description	Qty	Cost	Total
Zoeller 815-0004 Pricing includes freight to Bio-Gard Inc.	12	1,357.49	16,289.88
Pricing includes freight to Bio-Gard Inc.  Zoeller 810-0004  Pricing includes Freight to Bio-Gard inc.  NOTE:  PRICING IS BASED UPON THE SPECIFIED QUANTITY OF EACH PUMP AND THE TOTAL ORDER. ANY CHANGE IN QUANTITY WILL NEED TO BE RE-QUOTED.  ZOELLER HAS NOTIFIED US THAT PRICES WILL INCREASE BY 5% APRIL 1ST.  PRICING REFLECTS ASSOCIATED COSTS AS OF FEBRUARY 16TH 2022. DUE TO INFLATIONARY PRESSURES PRICING IS SUBJECT TO CHANGE.	5	1,254.59	6,272.95

Pricing good for 30 days. If paying by Credit card a 3.75% fee will apply.

Subtotal	\$22,562.83
Sales Tax (5.975%)	\$0.00
Total	\$22,562.83